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. SMERMO T inIZBHET ST 2ERIA
ﬁg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREOHBERILHDOKRES
; 100kN/M%#8%25 | 1.00 | 0.00 ~ 1.44 121.92 |3mZE#BAB| — ~ — — — | 100kN/mMZE#BZ5 | 1.00 | 1265 ~ 2227\ 121.92 |3mZEBZ5 -~ — — —
ZznLst 1.00 | 1.44 ~ 923 100.00 | =nlsy | 000 ~ 9.23| 2.40 1212 ZznLst 1.00 |1 6.00 ~ 1255 100.00 | =nRS | .00 ~ 2227|240 1212
2 100kN/m%Z#BZ5| 1.00 | 000 ~ 18| 12868 |3mEBZB| — ~ — — — | 100kN/m%#Z5 | 1.00 | 11.49 ~ 21.99| 12868 |3mZi#BZ3 -~ - — —
ZznLst 1.00 | 1.86 ~ 9.65 100.00 | =0y | 000 ~ 9.65| 2.48 12.52 znLst 1.00 1 6.00 ~ 11.49 100.00 | =nRS | 6,00 ~ 21.99| 2.48 12.52
P 100kN/m%Z#BZ5| 1.00 | 0.00 ~ 1.67| 12562 |3mEBZB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 11.17 ~ 1890 125.62 |3mZi#BZB - ~ — — -
ZznLst 1.00 | 1.67 ~ 9.46 100.00 | =nlsy | 000 ~ 9.46 | 2.20 11.14 znLst 1.00 |1 6.00 ~ 11.17 100.00 | =nRS | .00 ~ 1890 | 2.20 11.14
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.95| 130.16 |3mEBZB| — ~ — — — | 100kN/miZ#Z5 | 1.00 | 1070 ~ 1890 130.16 |3mZi#BZ3 -~ - - -
znLst 1.00 | 195 ~ 974 100.00 | =nlsy | 000 ~ 9.74 | 2.28 11.53 st 1.00 1 6.00 ~ 10.70 100.00 | =nS | .00 ~ 1890 | 2.28 11.53
5 100kN/M%#8%2 5| 1.00 | 0.00 ~ 211 132.73 |3mZE#BAB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 10564 ~ 1892 13273 |3mZi#BZ3 -~ - — —
ZznLst 1.00 | 211 ~ 9.90 100.00 | =nlsy | 000 ~ 990 2.35 11.88 ZznLst 1.00 1 6.00 ~ 10.54 100.00 | =N | 5,00 ~ 1892 | 2.35 11.88
g 100kN/m#Z#B25| 1.00 | 000 ~ 212 13279 |3m&EBZZ| — ~ — — — | 100kN/m%Z#Z25 | 1.00 | 1053 ~ 1870 132.79 |3mZi#BZ3 -~ - — —
znLst 1.00 | 212 ~ 9.90 100.00 | =nlsy | 000 ~ 9.90| 2.38 12.03 ZznLst 1.00 1 6.00 ~ 1053 100.00 | =nRS | .00 ~ 1870 | 2.38 12.03
7 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 428 53.50 | =hst | 0oo ~ 428|226 11.42 znLst 1.00 | 5.00 ~ 6.80 53.60 | =N | 5,00 ~ 6.80 | 226 11.42
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 0.00 ~ 4.56 56.81 | Thst | 000 ~ 456\ 1.90 9.569 ZznLst 1.00 | 5.00 ~ 5.00 56.81 | =N | 5,00 ~ 5.00)|1.90 9.569
9 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZnLst 1.00 | 0.00 ~ 3.90 48.92 | #hst | 0oo ~ 390|210 10.63 znLst 1.00 | 5.00 ~ 5.00 48.92 | #nS | 5,00 ~ 500|210 10.63
10 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.04 75.66 | =LY | 000 ~ 604202 10.20 ZznLst 1.00 | 5.00 ~ 8.00 76.66 | EnRS | 5,00 ~ 800|202 10.20
17 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — —
znLst 1.00 1 000 ~ 4.48 55.91 | =hs | 000 ~ 448 1.93 9.74 ZznLst 1.00 | 5.00 ~ 5.00 55.91 | =nS | 5,00 ~ 500 1.93 9.74
12 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — —
znLst 1.00 | 0.00 ~ 4.54 56.59 | Thst | 0oo ~ 000|167 7.93 znLst 1.00 | 5.00 ~ 5.00 56.69 | =N | 5,00 ~ 5.00)|1.567 7.93
13 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — —
ZznLst 1.00 1 000 ~ 7.09 89.97 | #hst | 0oo ~ 000|167 8.45 ZznLst 1.00 | 5.00 ~ 9.10 89.97 | =S | 5,00 ~ 9.10 | 1.67 8.45
14 100kN/m%Z#BZ5| 1.00 | 000 ~ 033| 104.89 |3mEBZB| — ~ — — — | 100kN/m%#Z25 | 1.00 | 1097 ~ 1200 104.89 |3mZE#BZ3 -~ - — —
ZznLst 1.00 | 0.33 ~ 812 100.00 | =4y | 000 ~ 812|205 10.38 znLst 1.00 | 6.00 ~ 10.97 100.00 | =nRSY | 5.00 ~ 1200 | 2.056 10.38
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
zhLst ~ s ~ zhLst ~ s ~




	表紙
	様式3-1（全体図）
	様式3-1（区域図1）
	様式3-1（区域図2）
	様式3-1（区域図3）
	様式3-2

